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HEENDEEICE T HRKER ST R IR RS

£ i} B - K& HEI | $%E H iy *%5 HE
E R il 4964200 + 113,411 5,077,611
EEAGE 4,964,200
EERE 113,411
Z Dt 1 4,964,200 x 5385% ( 35% = ( 1— 35% ) ) 2,673,221
EF i 5077611 + 2,673,221 7,750,832
—REEEE 7,750,832 x  5385% ( 35% = ( 1— 35% ) ) — 4655 4,169,168
FFMmA 7,750,832 + 4,169,168 11,920,000
HEMEHEZA 11,920,000 x  10.00% 1,192,000
EHETEH 11,920,000 + 1,192,000 13,112,000




HEENDEEICE T HRKER ST R IR RS

BERNRE

S % i IR - PR TR BHir| %= B {if 5%7%75:6” ES

KER A RREAFER 5,077,611

KER IS A RREAFER 5,077,611

EEANEE 4,964,200

RIEE 433,500

R ‘ 1.00] 433500 433,500

RS EMETHFALEELBCPORENDEHE = 595,400

2 RBF EMEZHREA-LEELEBCPOREDREHE ‘ 1.00[ 595,400 595,400

LRSI D E T - EE B = 561,300

3 I EHE IR DKk - EE B ‘ 1.00 561,300 561,300

MBERDFSISRUVIEHEXADREEDRE = 642,600

4 MEREFDF5IERUVEFEHRXDBEEDREE ‘ 1.00] 642,600 642,600

LEEZBCPOHREENDRET = 660,600

5 KA ZBCPOREENKET ‘ 1.00 660,600 660,600

REFNFRETE DIERK = 660,600

6 R R FIFRETIE D 4 A o 1.00 660,600 660,600
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HEENDEEICE T HRKER ST R IR RS

BERNRE
_ % i FRAE - FLAR T IE B #%E ==X i & %8 BE
WEESDORE - EEME 496,100
7 BESDORE-EE 1.00 207,400 207,400
[A]
8 HESDEEMHEN 1.00 288,700 288,700
] =]
wE-H,E 441,200
9 ERHiE 1.00 121,800 121,800
[A]
10 FfEHhE 1.00 121,800 121,800
[A]
1 xBREE 1.00 197,600 197,600
[A]
REY 472,900
12 SHREZ/ERL 1.00 472,900 472,900
Ea
BEERE 113,411
EHFHERE 45,230
13 BHFHAME 1.00 45,230 45,230
_ =
BEESRE 29,181
14 BESRE 1.00 29,181 29,181
] =
EFBRERE 39,000
15 ZEFHREME 1.00 39,000 39,000
Ea




RffizR - T/ Sy —

HEENDEEICE T HRKER ST R IR RS

ES: 1
BFh: ETEZERE XY
£ g1 R -BRT ==X v) B = B & %8 W E g =
BEh&
A 1.00 75,800 75,800
FEHEm (GRED)
A 1.50 64,800 97,200
FEm(A)
A 2.50 57,000 142,500
FEm(B)
A 2.50 47,200 118,000
& &t EXHE 1.00% 433,500 433,500
BE: 2
ZF: REEYEMEEZRFEZ-ILEBZEBCPOERENEE 1 &Y
£ g1 R -k BT B = B & %8 W E B =
EXEETTHE D)
A 2.50 64,800 162,000
FEm(A)
A 3.00 57,000 171,000
FEm(B)
A 2.00 47,200 94,400
M (C)
A 3.50 38,400 134,400
Bitrg&
A 1.00 33,600 33,600
& &t EXHE 1.00% 595,400 595,400




RffizR - T/ Sy —

E5: 3

HEENDEEICE T HRKER ST R IR RS

2F . IREEEBOER - EEHE 1%y
£ g1 R -BRT ==X v) B = B & %8 W E g =
EXEETTHE D)
A 2.50 64,800 162,000
FEm(A)
A 2.50 57,000 142,500
FEm(B)
A 3.00 47,200 141,600
FEm(C)
A 3.00 38,400 115,200
& &t E¥£8eH: 1.00K 561,300 561,300
EZ5: 4
2% MERBEROFIIERUVEBEXDIEEDRE 1 &Y
£ g1 R -k BT B = B & %8 W E B =
EXEETTHE D)
A 2.50 64,800 162,000
FEm(A)
A 3.00 57,000 171,000
FEm(B)
A 3.00 47,200 141,600
FEm(C)
A 3.50 38,400 134,400
Bitrg&
A 1.00 33,600 33,600
& &t E¥£8eH: 1.00K 642,600 642,600




RffizR - T/ Sy —

HEENDEEICE T HRKER ST R IR RS

BEES: 5
L% LB EBCPOREENEE 1%y
£ g1 R -BRT ==X v) B = B & %8 W E g =
EXEETHEHD)
A 3.00 64,800 194,400
FEm(A)
A 3.00 57,000 171,000
FEm(B)
A 3.00 47,200 141,600
FEm(C)
A 4.00 38,400 153,600
& &t EXHE 1.00% 660,600 660,600
ES: 6
B REEIFREEDIER 1 &Y
£ g1 R -k BT B = B & %8 W E B =
EXEETHEHD)
A 3.00 64,800 194,400
FEm(A)
A 3.00 57,000 171,000
FEm(B)
A 3.00 47,200 141,600
FEm(C)
A 4.00 38,400 153,600
& &t EXHE 1.00% 660,600 660,600




RffizR - T/ Sy —

HEENDEEICE T HRKER ST R IR RS

B5: 7
2% BESORHE-EE UEED,
£ g1 R -BRT ==X v) B = B & %8 W E g =
EXEETTHE D)
A 1.00 64,800 64,800
FEm(A)
A 1.00 57,000 57,000
FEm(B)
A 1.00 47,200 47,200
FEm(C)
A 1.00 38,400 38,400
& &t EXHE 1.00[=] 207,400 207,400
E5: 8
2% BESOEZWEE UEED,
£ g1 R -k BT B = B & %8 W E B =
EXEETTHE D)
A 1.00 64,800 64,800
FEm(A)
A 1.50 57,000 85,500
FEm(B)
A 1.00 47,200 47,200
FEm(C)
A 1.50 38,400 57,600
Bitrg&
A 1.00 33,600 33,600
& &t EXHE 1.00[=] 288,700 288,700




RIBR-FBI/ Svr—
EE: 9

PEERNDEEBICETOKERICA KRR ER

2. FARE UEED,
£ g1 R -BRT ==X v) B = B & %8 W E g =
jiﬂz*igﬂi(nln
A 1.00 64,800 64,800
FiBm (A)
A 1.00 57,000 57,000
& &t EXHE 1.00[=] 121,800 121,800
£S: 10
ZFh: PREHRE UEED,
£ g1 R -k BT B = B & %8 W E B =
jiﬂz*igﬂi(nln
A 1.00 64,800 64,800
FiBm (A)
A 1.00 57,000 57,000
& &t EXHE 1.00[=] 121,800 121,800
&5 11
2Fh: RIRWRE UEED,
g1 R -k BT B = B & %8 W E B =
BEh&
A 1.00 75,800 75,800
jiﬂz*igﬂi(nln
A 1.00 64,800 64,800
FAm (A)
A 1.00 57,000 57,000
& &t EXHE 1.00[=] 197,600 197,600




RffizR - T/ Sy —

HEENDEEICE T HRKER ST R IR RS

£SE: 12
2 HRESIER 1%y
£ g1 R -BRT ==X v) B = B & %8 W E g =
EXEETTHE D)
A 1.50 64,800 97,200
FiBm (A)
A 2.50 57,000 142,500
FEm(B)
A 2.50 47,200 118,000
FEm (C)
A 3.00 38,400 115,200
& &t EXHE 1.00% 472,900 472,900
£S:. 13
2% BERARE 1 &Y
£ g1 R -k BT B = B & %8 W E B =
=R E
= 1.00 45,230 45,230
& &t EXHE 1.00% 45,230 45,230
£S: 14
2. BEERE 1 &Y
£ g1 R -k BT B = B & %8 W E B =
hEaRE
= 1.00 29,181 29,181
& &t EXHE 1.00% 29,181 29,181




PEERNDEEBICETOKERICA KRR ER
K& - BT/ \vr—

£E:. 15
2% XBBRERE 1%y
£ g1 R -BRT ==X v) B = B & %8 W E g =
XBRERE
= 1.00 39,000 39,000
& &t E¥8EHN: 1.00X 39,000 39,000




